1/ do/dsum p_ [GeV ]

Ratio to CMS

-

T

1071

1072

0.5

7OOOI va Pp_

Sum(pT) (pT > 3)

m CMS
—4— Pythia 6.428 370
---0-- Pythia 6.428 atlas-csc
--+-- Pythia 6.428 d6t
- = Pythia 6.428 default

Und

erlying Event
T

| ]

mcplots.cern.ch [arXiv:1306.3436]

= --+-- Pythia 6.428 dw <=

— —o— Pythia 6.428 p0 ¥+

B CMS_2011_S9120041 |
| 1 | | | | | | | | | | | 4+ | | | | | |

:l T T T T | T T T | T T T T | T T T :

ey - T o N . A

e K T AT A LT
= _ N - T/ .\ ’

— 5\\\ T /%\ ) ,*\ ,% \ . - ,*\*/ 1 A ,* —]
RS TR i EAVFRRT S ALA el IAaA Z
L ¢-2 V- m‘iéifﬁh;; (0 SR S\V I S VAR ED
| sl“ ~. F = ‘;'\L AL . ‘v‘ A “‘!7/ l ‘ O _|

AR R L AR . L0 &

B /Al * ? \d_)— I N P= & L 03 I T W |
| - $"\ - 9 T /*“\'..*\ . I’ ¥ T
/A o ¢ Q \é’é‘ T _I\\ } 1 “ 1 ‘\ l * :II _T l
- 101 . L A ,q‘)\ 1 | Lo

- 1 ‘¢’ l @ Nz Iql") T
| 1 1 1 1 | 1 1 1 1 | 1 1 " 1 1 " : | ! 1 1 I¢.

sum p_ [GeV]

Rivet 3.1.0, = 14M events

N

0.5



	Contents
	Page 1


